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Algebra 2 
Unit 10, Day 2: PM 13 – 16, 18 Replacement WS
Directions:  Roll two dice 36 times and record the sum.  
	1. ____
	7. ____
	13. ____
	19. ____
	25. ____
	31. ____

	2. ____
	8. ____
	14. ____
	20. ____
	26. ____
	32. ____

	3. ____
	9. ____
	15. ____
	21. ____
	27. ____
	33. ____

	4. ____
	10. ____
	16. ____
	22. ____
	28. ____
	34. ____

	5. ____
	11. ____
	17. ____
	23. ____
	29. ____
	35. ____

	6. ____
	12. ____
	18. ____
	24. ____
	30. ____
	36. ____


Find the empirical probabilities (what happened):

	P(2) = ____
	P(5) = ____
	P(8) = ____
	P(11) = ____

	P(3) = ____
	P(6) = ____
	P(9) = ____
	P(12) = ____

	P(4) = ____
	P(7) = ____
	P(10) = ____
	


Directions:  Fill in the table with the sum of the two dice.  Compute the theoretical probabilities (what was expected to happen).
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Probability "______" problems – problems in which you are asked to calculate the probability that one thing ____ another thing might happen.  Generally, we ________ the probabilities together.
Examples:  If a 6-sided die is rolled, compute the following probabilities:
	P (rolling 1 or 4) = 
	P (rolling 2, 3, or 4) = 
	P (rolling even # or 5) = 


Probability "______" problems – problems in which you are asked to calculate the probability that one thing _____ another thing happen at the _________  _________.
Examples:  If a 6-sided die is rolled, compute the following probabilities:

	P (rolling even # and 6) = 
	P (rolling 2 and 5) = 


Directions:  Determine the following probabilities based on your table.
	1)  P (sum = 2 or 4) = 


	7)  P (exactly 1 die = 2) = 

	2)  P (sum > 5) = 


	8)  P (sum < 13) = 

	3)  P (sum ≥ 5) = 


	9)  P (sum < 2) = 

	4)  P (sum is not 5) = 


	10)  P (sum at most 10) = 

	5)  P (both dice = 2) = 


	11)  P (5 < sum < 8) = 

	6)  P (at least 1 die = 2) = 


	12)  P (sum > 8 and sum < 5) = 


Directions:  Make a double-bar graph to compare your empirical probabilities to the theoretical probabilities.  Use graph paper!
Example:

Mixed Practice:

1. Dayton owns 2 pairs of blue jeans and 1 pairs of black jeans.  He also owns the following shirts:  1 white and 2 green.   If he blindly chooses his clothing from his closest each morning, then make a tree diagram to show all possible outfits when he picks one shirt and one pair of jeans.

2.  Use the dice chart on Page 1 to answer the following:

	1)  P (sum = 3) = 


	7)  P (exactly 1 die = 3) = 

	2)  P (sum > 7) = 


	8)  P (sum < 8) = 

	3)  P (sum ≥ 4) = 


	9)  P (sum < 3) = 

	4)  P (sum is not 6) = 


	10)  P (sum at most 9) = 

	5)  P (both dice = 4) = 


	11)  P (2 < sum < 5) = 

	6)  P (at least 1 die = 3) = 


	12)  P (sum > 10 and sum < 3) = 


Name: __________________________


Date: ______________ Period: ______





P(2) = ____


P(3) = ____


P(4) = ____


P(5) = ____


P(6) = ____


P(7) = ____


P(8) = ____


P(9) = ____


P(10) = ____


P(11) = ____


P(12) = ____
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